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Truss Loading Information Section:

TrusSteel Truss Calculation Explanation

[ALPINE][AISI 2016 - IBC][Truss Label ][Job Name]
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Al [TclL 20.01[TcdL 10.0][BCDL 10.0][BCLL  0.0][ASI 1.00][0C 48.0][NM 1][SOFFIT  2.0] |
Truss Bearing Information Section: w
=Bearings===[X-Loc] [Y-Loc] [VReact] [HReact][Size] ====== Gravit){ Load Case: g .
B |[ 0.26][10.00][ 36901[ -449h]1[0.50]  [37.75][10.00][ 4091J[  Oh][0.50] @ ®) © ) Content Legend:
. . [STD.AUTO.LOAD] [OC 48.00][ASI 1.00][NM 1] Truss Loading Information Section:
Trucs:s Chord IIJnformatlon Section: E . G H | Load case: 1 User Modified: No () ™ o h
40 PLF @ -2.0 to 40 @ 17.0 [y=23. 0%] ow
EndPts | MaxT  MaxC | AXL BND SHR CRIP  CSI COMB| GLC| Length | Grade Brace ig iti g ;Zg :O 18 g ﬁ g;% . . .
0- 2 118 0 /0.01 0.15 0.03 0.00 0.15 sSB| 1 | 27.67| 54Tsc4.00 | piaph 40 PLF @ 31.0 t° 10 @ 41, 0] Truss Bearing Information Section:
2-5 238 -136 |0.00 0.15 0.02 0.00 0.15 AB| 1 [ 27.41| 54Tsc4.00 | Diaph 8 PLF @ -2.0 t° sa 0 0] Row B
5- 6 | 873 -4900 [0.26 0.15 0.11 0.00 0.39 AB| 5 3.90 | 54TSC4.00 | Diaph 3 PLF @ 38.0 t° 3 @41 %]
6- 8 | 938 -5838 |0.34 0.63 0.06 0.00 0.91 AB| 5 | 81.89| 54TSC4.00 | Diaph @40 pLF @ 0.0 tg 40 @ 11, 0]
8-10 | 1022 -5573 [0.29 0.58 0.05 0.00 0.86 AB|[ 5 2.67 | 54Tsc4.00 | Diaph 40 PLF @ 11.0 to 40 @ 38. 0%] Truss Chord Member Information Section:
10-13 895 -4717 |0.30 0.61 0.10 0.00 0.89 AB | 5 [ 111.37| 54TSC4.00 | Diaph 20 @-2.0 80 @ 17, 91 [100% _ )
13-16 | 929 -4575 [0.37 0.60 0.08 0.00 0.97 AB| 5 | 92.04| 43TsC4.00 | Diaph ps i::i P Eg e -9% %100%% ColumnC = Member endpoints
16-17 | 1164 -5376 [0.37 0.09 0.17 0.00 0.45 AB| 5 1.39 | 43TSC4.00 | Diaph : : - ; " :
17-18 | 1263 2343 [0.37 0.11 0.19 0.00 0.47 as| 3 1.57 | 4375c4.00 | Diaph gg PLF g ﬁg to gg g _g] [1885] Column D Maxm\.ll{)n tension and compression member forces from all load
18-20 | 857 -3392 |0.21 0.64 0.09 0.00 0.82 A8 | 6 | 82.15| 43Tsc4.00 | piaph L80 PLF 8 310 to e . ](E 0#°] cases (Ibs.)
20-22 857 -3392 |0.23 0.02 0.17 0.00 0.25 AB| 5 0.27 | 4375C4.00 | Diaph [<5) Brg-# 2 vert.Re ‘s 0 0% ColumnE = Stress indexes for members
22-24 | 844 -4069 [0.32 0.50 0.08 0.00 0.77 AB| 5 | 87.69| 43TSC4.00 | Diaph [t A
24-25 419 -1572 |0.11 0.71 0.45 0.00 0.88 SB[ 5 3.36 | 43T5C4.00 | Diaph s Load C . ColumnF = Load case number from load list "W" that produces the highest stress
25-27 | 288 0 /0.02 0.93 0.08 0.00 0.93 SB| 5 | 42.68| 43T5C4.00 | Diaph Snow Load Lases: index
27-29 5 -0 |0.00 0.00 0.00 0.00 0.00 SB| § 0.92 | 43T5C4.00 | Diaph EISE unb. L‘;adULEftanEOdC,f‘!SaOOi[ASI 1.00][nM 1] ColumnG = Analog length of member (in.)
1- 3 0 -0 /0.00 0.00 0.00 0.00 0.00 AB| 1 0.75| 28Tsc4.00 | @ 48" oad case: ser Modified: No = :
3- 4 0 -0 [0.00 0.09 0.16 0.00 0.17 SB| 5 2.39| 28TSC4.00 | @ 48" 0 PLF @ -2.0 to 40 0%] =M .
4-7 [3945 -707 |0.31 0.25 0.05 0.00 0.53 AB |29 | 94.50| 28TSC4.00 | @ 48" 40 PLF @ 17.0 to 40 0%] Column H ember size
7-9 | 5179 -721 |0.50 0.10 0.07 0.00 0.51 AB| 5 4.37 | 28Tsc4.00 | @ 48" 40 PLF @ 24.0 to 40 0%] Column| = Member restraint assumption used for analysis
9-11 |5179 -721 [0.50 0.10 0.05 0.00 0.47 AB|[ 5 30.00 | 28TsC4.00 | @ 48" 40 PLF @ 31.0 to 40 0%]
11-12 | 5179 -721 [0.44 0.48 0.09 0.00 0.83 AB| 5 | 69.56| 33TSC4.00 | @ 48" 8 PLF @ -2.0 to 8 . 0%] ) .
12-14 | 3842 -376 |0.32 0.73 0.28 0.00 0.91 AB| 5 2.44 | 33TsC4.00 | @ 48" 20 PLF @ -2.0 to 20 .21[100%] Truss Web Member Information Section:
14-15 | 3842 -376 |0.32 0.73 0.42 0.00 0.91 AB|[ 5 2.45 | 33TsC4.00 | @ 48" 68 PLF @ 17.0 to 68 .21[100%] - ;
15-19 | 5343  -951 |0.45 0.91 0.11 0.00 0.91 SB | 5 | 162.45| 33TSC4.00 | @ 48" 61 PLF @ 17.0 to 61 .211100%] Column J Member endpoints
19-21 | 3392 -505 [0.29 0.48 0.51 0.00 0.71 AB| 5 2.39| 33TSC4.00 | @ 48" 20 PLF @ 24.0 to 20 .2]1[100%] Column K = Maximum tension and compression member forces from all load
21-23 |3392  -505 [0.29 0.79 0.27 0.00 0.93 AB| 5 3.79| 33Tsc4.00 | @ 48" 68 PLF @ 31.0 to 68 .21 [100%] cases (Ibs.)
23-26 0 -1 /0.00 0.79 0.11 0.00 0.79 sSB| 5 [ 77.92| 337Tsc4.00 | @ 48" 60 PLF @ 31.0 to 60 .21[100%] ’
26-28 0 -1 (0.00 0.19 0.03 0.00 0.19 SB[ 5 38.25| 33T5C4.00 | @ 39" 8 PLF @ 38.0 to 8 410 0%] ColumnL = Stress indexes for members
28-30 0 -0 |0.00 0.00 0.00 0.00 0.00 AB |19 0.75 | 337sc4.00 | @ 39" 40 PLF @ 0.0 to 40 A 0%l _ _
i a 40 PLF @ 11.0 to 40 AL 0%l ColumnM = Load case number from load list "W" that produces the highest stress
Truss Web Information Section: Brg.# 1 vert.R= 2387.1 0.0# index
J K L M N (o] P Brg.# 2 Vert.R= 3448.1 -0.o0# ColumnN = Analog length of member (in.)
endets[ waxt waxcl A ewp sk cup cstcomlalcl tength[rade - [erace Some Snow Load Cases Have Been Deleted | | ColumnO = Member size
- - . B . . . . LoX1. v
4- 5 | 759 -49950.66 0.00 0.00 0.00 0.00 AB | 5 | 28.02 | 47wl.5x2.5 For lllustration Purposes ColumnP = Member restraint assumption used for analysis
6- 7 | 1280 -15/0.36 0.00 0.00 0.00 0.00 AB | 5 71.43 | 33c1.5x1.5 \_N;n;i Lt;a;.i _C;s;s_' “““““““
8- 9 193 -66|0.09 0.00 0.00 0.00 0.00 AB | 5 55.55 | 33c1.5x1.5 YVind Load Lases. : o
10-12 | 400 -1549|0.59 0.00 0.00 0.00 0.00 AB | 5 | 112.53 | 33z1.5x2.50 | T BRC [MWFRS ASCE Perp/L++][0C 48.00][ASI 1.00][NM 1] Truss Analog Node Information Section:
13-14 | 2549 -457|0.50 0.00 0.00 0.00 0.00 AB [25 | 106.55 | 3321.5x1.62 Load case: 7 User Modified: No ColumnQ = Analog node number
15-16 791 -1940| 0.63 0.00 0.00 0.00 0.00 AB | 5 | 103.22| 33z1.5x2.50 |1 cLB -21 PLF @ 24.0 to -21 @ 31.0  [y=15.7][100%] )
18-19 575 -2513|0.81 0.00 0.00 0.00 0.00 AB | 5 | 102.75| 33z1.5x2.50 [ 1 cLB 5; PLF g gg to 5; g lgg Ewigﬁ E%gg% ColumnR = XandY coordinates of node
20-21 | 990 0/ 0.27 0.00 0.00 0.00 0.00 AB | 5 64.77 | 33C1.5x1.5 PLF @ -2.0 to . y=10. _ . . .
23-24 | 3585 534 0.88 0.00 0.00 0.00 0.00 Ag | 5 79.16 | 33wl 5x1.5 ~44 PLF @ 17.0 to -44 @ 24.0  [y=15.7] [100%] ColumnS = Live load and total load vertical deflection of node (in.)
25-26 845 -4159(0.68 0.00 0.00 0.00 0.00 AB | 5 24.05 | 33z1.5x2.50 -44 PLF @ 31.0 to -44 @ 41.0  [y=10.7][100%] ColumnT = Live load and total load horizontal deflection of node (in.)
27-28 75 0]/ 0.02 0.00 0.00 0.00 0.00 AB |20 4.97 | 33c1.5x1.5 22 PLF @ -2.0 to 22 @ 24.0 [y=22.2][ 0%]
20 PLF @ 24.0 to 20 @ 31.0 [y=22.2][ 0%] ColumnU = Maximum shear force at the node (Ibs.)
Truss Analog Node Information Section: 22 PLF @ 31.0 to 22 @ 41.0 [y=22.2][ 0%] ) )
Q ! R ) T U v 20 PLF@ 0.0 to 20 @ 41.0 [§= 4.41[ 0% ColumnV = Load case number from load list "W" that produces the highest shear
Brg.# 1 Vert.R=  737.8 # Hor.R= -448.5% force
Node X-LoC Y-Loc defly(L) def1v(T) dxL  dxT | MaxShear | GLC Brg.# 2 vert.R=  286.8 # Hor.R= -0.0#
0 -2.00 9.53 | 0.00 L/999 0.00 L/999 | 0.00 0.00 o\ | ===== CETETETE TS EEmE o EmmmE = mE == . Truss Loading:
1 0.00 10.15 | 0.00 L/999 0.00 L/999 | 0.00 0.00 0| 0 Some Wind Load Cases Have Been D ) ) ) ! )
2 0.06 10.56 | 0.00 L/999 0.00 L/999 | 0.00 0.00 _244 24 For lllustration Purposes Loa_d Case = This area consists of a list of load cases that are used to design the
3 0.06 10.15 | 0.00 L/999 0.00 L/999 | 0.00 0.00 463 5 || Stemrmmmrmmmrmmmrmmmemmetmemmcmemmememems List W truss.
4 0.26 10.15 | 0.00 L/999 0.00 L/999 | 0.00 0.00 471 5 [C&C ASCE WindHLt-+][0C 48.00][ASI 1.00][NM 1]
5 2.11 11.59 | 0.05 L/999 0.09 L/999 | 0.03 0.06 -978 5 Load case: 24 User Modified: No Truss Analog:
6 2.40 11.73 | 0.06 L/999 0.11 L/999 | 0.04 0.06 -950 5 -75 PLF @ 31.0 to -75 @ 35.1 [y=13.6][100%] ) )
7 8.14 10.15 | 0.17 L/999 0.29 L/999 | 0.02 0.03 -180 5 -63 PLF @ 21.1 to -63 @ 24.0 [y=15.7][100%] Picture X = Computer analog model of truss showing the node numbers that are
8 8.50 14.78 | 0.17 L/999 0.30 L/999 | 0.08 0.13 496 4 -63 PLF @ 2.1 to -63 @ 17.0 [y=19.2][100%] referenced in the chord, web and analog information sections. Also
g g Sg 10.;; glg L;ggg g;o L;ggg ggg 8.04 —]8.6§ 5 -1272_ PLF Cg -f)% to -1272'35 @(; g(i [[y=ﬂ77]] [ﬁ%%?;]] shown in this picture is a graphical representation of the loads applied
1 .7 14, .18 L, 31 L . .14 -84 5 -75 PLF .0 to - . y=11. % ] i ; it A
1 11.00 10015 | 0.18 L7999 0.32 L7999 | 0.03 0.05 28 24 75 PLF @ 17.0 to -75 @ 21.1  [y=17.1][100%] to the truss of the first gravity load case shown in the load list "W".
12 16.80 10.15 | 0.22 L/999 0.38 L/999 | 0.04 0.08 1014 5 -101 PLF @ 24.0 to -101 @ 31.0 [[y=15-725[[100%25 X
13 17.00 19.03 | 0.20 L/999 0.35 L/999 | 0.08 0.13 634 5 -63 PLF @ 35.1 to -63 @ 41.0 y=10.7][100%
14 17.00 10.15 | 0.23 L/999 0.39 L/999 | 0.04 0.08 -1527 5 22 PLF @ -2.0 to 22 @ 24.0  [y=22.2][ 0%] 80,0 PLF
I R v L e S Drraitn Beaws bt od| | DO
16 23.86 15.60 | 0.25 L/999 0.43 L/999 [ 0.04 0.07 [ -1469 | 6 22 PLF @ 31.0 to 22 @ 41.0  [y=22.2][ 0%]
17 23.96 15.55 | 0.24 /999 0.42 L/999 | 0.04 0.07 | -1463 | 6 20 PLF @ 0.0 to 20 @ 41.0 [y= 4.41[ 0%] ADOPLE
18 24.09 15.55 | 0.24 L/999 0.42 L/999 | 0.04 0.07 1348 5 [EEEEEE R R
19 30.74 10.15 | 0.16 L/999 0.28 L/999 | 0.08 0.15 1835 5 Load Case Explanations: 2
20 30.94 15.55 | 0.14 L/999 0.25 L/999 | 0.03 0.06 1167 5 (@ - Load case name
21 30.94 10.15 | 0.15 L/999 0.26 L/999 | 0.08 0.15 1843 5 (b) - Truss spacing (inches) 16,
22 30.96 15.55 | 0.14 L/999 0.24 L/999 | 0.03 0.06 1168 5 () - Allowable Stress Increase - Not applicable W10 1718 2022
23 31.26 10.15 | 0.13 L/999 0.22 L/999 | 0.09 0.15 866 5 to CFS trusses
24 37.50 12.28 | 0.02 L/999 0.04 L/999 | 0.08 0.14 3106 5 (d) - Number of Truss Plies 2
25 37.75 12.16 0.01 L/999 0.01 L/999|0.09 0.15 3146 5 (e) - Beginning and end locations of Tloads 56, 25
26 37.75 10.15 | 0.00 L/999 0.00 L/999 | 0.09 0.15 -70 21 applied to truss 2 )
27 40.93 10.57 | 0.04 L/999 0.05 L/702(0.13 0.22 -73 5 (f) - Load case truss reactions 014 79 1 121415 19 2123 268 28 30
28 40.94 10.15 | 0.04 L/999 0.05 L/709 | 0.09 0.15 72 20 (9) - Graphical vertical location of load 00 PLF
29 41.00 10.53 0.04 L/999 0.06 L/703 | 0.13 0.22 0 1 (h) - 0% indicates dead load, 100% indicates 8.0 PLF 8.0 PLF
30 41.00 10.15 | 0.04 L/999 0.06 L/708 | 0.09 0.15 0| s other principal loads T T T T T T T T T T T T T Ty
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